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(2-Digit Multiplication)

A Ferris wheel completes a rotation in 53 seconds. How many seconds in all would
it take to complete 13 rotations?

A small dairy farm produces 87 gallons of milk in a day. How many gallons of milk
will it produce in 15 days?

The auditorium at Lion's school has 28 rows in all. If each row consists of 95 seats,
calculate the total capacity of the auditorium?

Clara and her friends take an average of 13 hours to mow a community lawn over a
weekend. How many hours on an average will they take to mow 14 such lawns?

It takes an hour for a car manufacturing company to assemble 11 cars. How many
cars can the company assemble in 56 hours?
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